RESISTOR MOUNTED

{ 5—PIN
IN ELECTRONICS BOX

‘ MOLEX HDR
CPC 11-9 1 1 1
ON TERMINAL STRIP |:p1:1 ANODE
‘ AvAvAY; ! J3:1 m RED 1 et Pz ‘ 2z [Pz }2— Q\\
CATHODE—
‘ 390 ohm i J3:2 BLACK 2 (22 [Pz -2 : 3 o= -jEMIWEREQ
. WHITE 3 - - 3 | 4 - -—‘7
{SIGNAL ‘ J3:3 m (123 |[P2:3 | | o1 ] COLLECTOR-4
\ | J3:4 BLACK 4 s [ras 12 5 E eSS \
BELDEN 9744 ‘ OPTEK
‘ ‘ 2 PR 24 AWG AP 119 OPB 708 J
1 oo UNSHIELDED 2064851 -
l = ‘ 206486—1 FASHION FROM .1” GRID VECTORBOARD
_—— USE EPOXY TO MOUNT OPB7@8 TO ENSURE
(SHOWN FOR CLAIRITY) STIFF MOUNTING, EVEN IF PAD—PER—HOLE
TYPE PCBOARD MATERIAL IS USED. SOLDER
CONNECTIONS ARE NOT STIFF ENOUGH.
1.75"
1.6°
1.2°
1.0° #4—40nc SPACER
| ‘ 0.25" LONG
0.2 2 PLACES 2
&
% R N O T N N N & | FILE VECTOR BOARD
< [T S N A I R e I RV L | CLOSE TO OPB708
. (S P \7\\\\4\7\77\ | “ “ l
s — @EJ 171@4 S Il |
[ N Jl__ L 111 Tl I- L ¢
[ | | [ | [ | | ! | |
| CTO T T TR T Y
[ e el e e Bl e e e e e i el
Ty O A Oy T B MOLEX SNAPABLE HEADER
5 PINS, PIN 2 REMOVED AS KEY
POSITION MOLEX HEADER AND
FILE BOTH SIDES TO FIT OPD7@8 IN VECTOR BOARD HOLES
INTO POMONA 2417 BOX. RELATIVE TO SPACER PLACEMENT
UNIVERSITY OF CALIFORNIA DEIMOS INSTRUMENT ROTATION FIDUCIAL
REVISION |_|CK OBSERVATORY SCHEMATIC AND PCB
@9—10—98 ADDED SIGNAL OUTPUT LINE PORT. Ib N . —10— NUM. 1 OF 4
©2—27-@1 UPDATED OPTO DRAWING, ADDED IN—LINE CONNECTOR. tc pes'N Bv: L. BRESEE ORIGIN DATE: @6—10-97 DWG. NO. |
@7-30—@1 ADDED CPC CONNECTOR
DRAWN BY: MODIFY DATE: @7—30—@1
PATH:  DEIMOS\ROTFID REV. A




CUT 0.25" SLOT
CENTERED AT 0.345”
FROM TOP FOR OPB708
CLEARANCE

DRILL #28 HOLE FOR
#4—40nc PAN HEAD

1.135"

(These numbers don’t add up

0.915”

| 0.55"

to a

I275.

symetrical slot.)

0.22"
4 0.345

I@.47@'

D

D

0.945"

1.745"

I2.25@'

SCREWS, 2 PLACES AN
LEFT SIDE ONLY IS
DRILLED FOR
PRIMARY FIDUCIAL
( 1.375*

r 0.65"

—

1.135"
]

BOTTOM FOR PRIMARY FIDUCIAL
OPB708 MOUNTED IN LEFT SIDE

POMONA
MODEL 2417
CAST ALUMINUM BOX

|

—

D

FILE OFF COVER PLACEMENT
LIP ON BOTTOM EDGE OF BOX

TAP EXISTING COVER
MOUNTING HOLES FOR
#2—56nc SCREWS

0.50" pRILL .46" HOLE FOR
HEYCO 5N—4 MEDIUM
—— STRAIN RELIEF CLAMP

0.55"

2757

1.135"
0.915”

0.22"
0.345° L

@.47@'I

0.945"

1.745"

2.25@'I

0.65" 7

CUT 0.25" SLOT
CENTERED AT 0.345”
FROM TOP FOR OPB708
CLEARANCE

DRILL #28 HOLE FOR
#4—40nc PAN HEAD
SCREWS, 2 PLACES

RIGHT SIDE ONLY IS
DRILLED FOR
SECONDARY FIDUCIAL

1.375" —|

DRILL .46” HOLE FOR ©-5@”
HEYCO 5N—4 MEDIUM —
STRAIN RELIEF CLAMP __— —1

1.135"
L

BOTTOM FOR SECONDARY FIDUCIAL
OPB7@8 MOUNTED IN RIGHT SIDE

REVISION

UNIVERSITY OF CALIFORNIA
LICK OBSERVATORY

DEIMOS INSTRUMENT ROTATION FIDUCIAL

PAMONA BOX MODIFICATIONS

pes’N By: L. BRESEE  |oRriGiN DATE: @6—10—97
DRAWN BY: MODIFY DATE: 11/12/97
PATH:  DEIMOS\ROTFID REV. A

DWG. NO. | NUM- 2

OF 4

EL-3122




- 1.30" S
( 1.20° T
? D|—oe.10 7]
/ /
/ / MOUNTING BRACKET
/
DRILL # 28 HOLE AND
COUNTER SINK FOR ~
#2-56nc FLATHEAD o
SCREWn4(-: PLACES ™~ ~ FABRICATE FROM 3"x5
EB ~o|— 206 RECTANGULAR EXTRUDED
’ ALUMINUM STOCK.
2.75" | e
‘ | 2.50" }
‘ 2.25 ‘ |
|a25'| —| . o
‘ ‘ pd MILL TWO SLOTS, 3/16” WIDE
DRILL AND TAP FOR 8.375 L 4 |—— 660 LONG, CENTERED IN THE
‘ @/ #8 — 32nc SCREW, @ 4 ‘ PIECE, 2 PLACES. +
2 PLACES 0.65" .
\ - 3
L
‘ I [ L |_1 /8" ‘ .56.‘_’)'J 2563 J
‘ ‘ 3.50 -
‘ NOT PLATE ‘ DEIMOS INSTRUMENT ROTATION FIDUCIAL
- _J|UNIVERSITY OF CALIFORNIA OUNTING BRACKET AND NUT PLATE
UNTI K U
—— LICK OBSERVATORY

pEs’N BY: L. BRESEE ORIGIN DATE: 96—10-97 DWG. NO. | NUM. 3 OF 4

DRAWN BY: MODIFY DATE: 11-12-97

PATH: DEIMOS\ROTFID REV. A

EL-3122




SECURE TO MOUNTING BRACKET WITH
#2—56nc x 1/4” FLATHEAD SCREWS IN 4 PLACES

0OPB708

PAMONA
BOX

#8 — 32nc ALLEN HEAD BOLT

2 PLACES
u]]]]]]]]] H]]]]]]]]] I MOUNTING BRACKET
[ [
B B DEIMOS BODY %
I [ [ I
= = NUT PLATE

UNIVERSITY OF CALIFORNIA| DEIMOS INSTRUMENT ROTATION FIDUCIAL

REVISION LICK OBSERVATORY MOUNTING DETAIL

pEs’N BY: L. BRESEE ORIGIN DATE: 96—10-97 DWG. NO. |NUM. 4 OF 4

DRAWN BY: MODIFY DATE: 11-12-97

PATH: " DEIMOS\ROTFID REV. A

EL-3122




